                                           Bio cat 3

1. All of these needed for digestion    of lipid except:

A. mechanical mixing.

B.bile pigment.

c.colipase

d.esterase.

e.

2. All of these are pancreatic enzyme except:

a.pepsine.

b.trypsine.

c.chemotrypsine.
d.

e.

3. One of these shares in activation of fatty acid by addition or removal of.........:
1. thiokinase.

2. co A.

3....&4.....
4. Which one of these go to portal circulation:
A. free fatty acid.

b.mid&short chain fatty acid.

c....d.....

5. linoleic acid: arachedonic acid.
Linolenic: w-3 acid...&decreased vision...&altered learning behavior.
6. Fatty acid synthesis:

A.stim. by increase increase insulin/glucagon ratio.

B.synthase has 8 catalytic activities.

C.synthase is rate limiting enzyme.

D.the end product is palmitoyl CoA.
E.in eukaryotes ACP all carbons from malonyl CoA.

7. the product HMG lyase is;

A.3-hydroxy butarate.

B.acetyl CoA.

C.aceto acetate.

8. Keton bodies:

A. increased in diabetes.

b..c...d....

9. Antigenic phospholipids:

a.cardiolipine.

b.pAf.
c.......d.......

10. All of these endopeptidase except;

a.trypsine.

b.chemotrypsine.

c.elastase.

d.carboxy peptidase.

11. one of these is catabolized by deamination:

a.lysin.
b.glycin.

c.tyrosine.

d.........e......

12. the co enzyme for aminotransferase;
a.NADH.

b.NADP+
c.pyridoxal ph..............................
d.

13. Which one of these is most imp. Source of ammonia:

A. amino acid.

b.glutamine.

c.bacteria.

d.amines.

e.purine &pyramidine.

14. One of these need tetra hydrofolate;
A. serine.

b.treptophan.

c.glutamate.

15. Histidene form:

A. Alfa Kato glutarate.

b.oxaloacetate.

c....d....

16. Form succinyl CoA:

a.valine.

b........c.........d.........

17. Alkapton urea due to defect in:

A.Homogestenase oxidase.

b.......c.......d.......
18. Male serup urine disease:

a. branched chain alpha ketoacid dehydrogenase.

19. Phenyl keton urea:

A…..

20. Homocystineuria:

A……..
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21. Rate limiting step in prophyrin synthesis:

A.

22. Acute intermittent porphyries:
A.hydroxymethyl baline syntheses.

23. the most common disease:
A.prophyria cutanea tarda.

T&f:

1. We obtain glycerphosphoryle base by add fatty acid on lysophospholipid>>>F
2. Short&medium chain does not need mixed micelles for absorption.
3. Pospholipase A2 is in plant tissue.

4. Aminoacid pool=100g

5. Upiqitine proteasome is energy dependent.

6. Four hi energy phosphate is consumed in synthesis of each molecule of urea.

7. New synthesized fatty acid is further elongated by mixed function oxidase.

8. Mid&short chain fatty acid need carnitiene shuttle.
9. Energy yield from steric acid (18:0).

10. Break down of sphingophospholipid release free fatty acid.

11. Short&med chain is not converted to their CoA derivatives they are released in portal circulation.

                                   مع تمنياتي لكم بالتوفيق 
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